Subtract 2 fractions

0 Complete the subtractions.

a)

b)

9]

d)

:

Ul

:

Ul
|

~N|u
|

u1|N

~N|w

ul|—=

4

[CJEN]
|

[CJES

White

0 Complete the calculations.

7 _3 3_1 8 _2
)30~ 10 D72 9 5393
2 1 9 _3 10 _ 3
b) 3-3 RETIRET h) 591 ~ 391
6 4
6_6 f>-3
) 66 7 7
Complete the subtractions.
Give your answer as a mixed number where necessary.
9 6 9 4 14 _4
15 5
9.5 8_4 N33
b) 5" c e) 373
9_4 1m_4
955 D373

Jack has 2% kg of potatoes.

He uses % kg of potatoes.

How many kilograms does he have left?

Complete the part-whole models.

a) b)
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Subtract 2 fractions

a Complete the calculations. o Complete the part-whole model in two different wauys.
7 _3 3_1 8 _2
A TORT) D72 9 33" 93
8 _3 Jd0 3
b) = - &) 71 ) 397 ~ 991
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e Complete the subtractions.

Give your answer as a mixed number where necessary.

9 6 9 4 14 _4 s e
a) T3 d) 373 9) 373 o Fill in the missing numerators.
15 5
9.5 8_4 N33
53 9373 @0 —_ 7 a1 =—_->
11 11 11 P 4
9_4 1m_4
4] 5% 3 3
1 pmlo_ LJ_7_4 9_1_ :
° Jack has 24 kg of potatoes. ) T 11 T e) 273 7t
He uses % kg of potatoes.
How many kilograms does he have left?
glo_a L1 7 pu_3_n_LJ
1 1 11 11 4 4 3 3

o Complete the part-whole models.
a) b) o Alex and Annie are taking turns playing a computer game. Q

Annie plays for a total of 2% hours.

Annie plays for % of an hour more than Alex.

3 ‘ e ‘ How much time do they spend in total playing on the game?
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